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1. T AR menjies 350 41 BRI RET VR F FRATFELH
(smartphones) ~ T 4= T *&(tablets) ~ 23% % ¥ (gaming devices){o4f £ & 4R (smart TVSs)
FAREE Y > - AEH ZRT N R?

(A) HTML, CSS and Java

(B) HTML, CSS and Flash

(C) HTMLS5, PHP and Flash

(D) HTMLJ5, CSS and JavaScript

2. T #es(Blockchain)#t firz #7007 AR R L ehet Tl AfE W B F LIRBE R ¥
R S T R R EN ST T T
(A) % 2ehHETNE
(B) # 8 it i & 4 4 55
(C) i 2 b % avgf it

(D) #ig % % =

3. USB3.1Gen2 sh ! @i & 5 ?
(A) 1 Gbit/s
(B) 2 Gbit/s
(C) 5 Gbit/s
(D) 10 Gbit/s

(A) pipeline
(B) % CPU & B
(C) % B+
(D) & &R
5. T % iT% % 3(0S) Dispatch H # it % 3 = 7|vk— 55 ?
(A) switching context
(B) switching to user mode
(C) ¥ ##14# 2 3] user program & % = program counter #7g T it R {7
(D) ##2
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TR K AR CF Y 7
(A) 0.0.255.555

(B) 255.0.0.0

(C) 255.255.0.0

(D) 255.255.255.0

THe ¥ % A (0S)rth % i si(file system)? » 4 % chw % 2 B E ISP 5 G T
F|oR— 38 7P

(A) 48t # 7|(linked list)

(B) = A (binary tree)

(C) =~ & (bit vector)

(D) :*#c(counting)

T M 1T % k 5(0S) e Internal interrupt # 2 T 3[vR— 38 ?
(A) 1/O complete

(B) stack overflow

(C) illegal command(ti2 45 4 44 17)

(D) divided by zero

T %o 1T %k 3(0S)« System Call f&#g 4 7 T 7|v8— 38 ?
(A) File Management

(B) Database Management

(C) Device Management

(D) Information Maintenance

10. Z42(ANNY) & sk b 22 2 107 o W BRAFRIZREETIRGDT o > BH 1 * 78—
AR FP- T > R sy £ 7 target audience( P fREL ) F o &AL ik @ = o

11. 7

it ”Design Model”?

(A) Responsive Web design (5% 5% % 7 &K 3)

(B) Dual platform design (g% 5 & 34)

(C) HTML Transitional 1.0 design (HTML 1.0 i# %2k 3+)
(D) Cascading style sheet design (& f % 3% £ 3% 3+)

FALEASSQLFES ¥ > 4p4 ALTERTABLE chw v 3 3 ™ 7lin 4 ?
(A) #& R iie- B

(B) ¥ # HeengHec 4 0T A i

(C) $t4 feehitipsc® £ 3|

(D) $t# feenffec $ = 2 4L
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12.

13.

14.

15.

16.

17.

FORESSQLIES ¢ 0 4p 4 SELECT COUNT('#f i &) FROM "4 & &7 ¢h#t e &

THfmE ?

f
(A) #icd £+ 8B
(B) #&F BB &K
(C) it fed 5 5 L FH
(D) e %2t

(A) Connecting two compatible networks.

(B) Connecting two compatible networks more efficiently.
(C) Connecting several compatible networks more efficiently.
(D) Most come with firewall management.

5B IPVE § & B bits ?
(A) 16-bit

(B) 32-bit

(C) 64-bit

(D) 128-bit

T 7ie % L TELNET #7 ¢ # chid 42 #(Port) % ?
(A) 21
(B) 23
(C) 25
(D) 80

B ofdw?

(A) A 3z4x(Address RRs)

(B) MX 3z45(Mail Exchange RRs)

(C) NS zz4%(Name Server RRs)

(D) CNAME :&45(Canonical Name RRs)

THPR- IFPRIET LR F PN R P mhfon P bR E G P pk e o Y
b vh IR e G Beph FRF 9

(A) ARP(Address Resolution Protocol)

(B) IP(Internet Protocol)

(C) TCP(Transmission Control Protocol)

(D) NAT (Network Address Translation)
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18. - s 4l 2 X > £ X=(0111), » Y=(1001), » #B X*Y="?
(A) (111111),
(B) (1011111),
(C) (1111101),
(D) (110011),

19. 3K (BF2E)16—(228A)16 i B g% 5 @ 7
(A) (11110010100110),
(B) (36244)g
(C) (15541)10
(D) (3DA4)16

200 E R 8 i kor - Bl Bf o 2 avd ek ot 0 RI-T6 ez B

(A) 01001100
(B) 10110100
(C) 10110011
(D) 01001101

215K T3 CES fe B digx i

B
,41:1
N

X=3; y=5;
X+=(++y);
printf(x);
(A)3

(B)5

(O)

(D)9

2. FRTACHFZ ARSI Dy EE?

X=3; y=5;

X+=(++y);

printf(y++);

(A) 5

(B) 6

(C)7

(D) 8
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23.

24.

25.

26.

217.

28.

Tl g3 A e 425K (O0P) ehiEd 7
(A) #HEE

(B) i

(C) &3

(D) # % &

T 7| datatypes 7 frze iR % bits #eE B+ 7
(A) int

(B) float

(C) double

(D) char

TR R A Y o PR A ERT?

(A) RTSP(Real Time Streaming Protocol)
(B) 2:¥f2k(Peer-to-Peer » P2P) 7

(C) CDN(Content Delivery Network)

(D) MMS(Microsoft Media Server Protocol)

vi— iE 35 5417 HTMLS structure element (3% 4 ~ % )?

(A) <header>, <footer>, <body>, <nav>, <section>, <article>% <aside>
(B) <head>, <IDOCTYPE>, <main>, <div>, <blockquote>, <table>% <ad>
(C) <header>, <footer>, <main>, <nav>, <section>, <article> % <aside>
(D) <!DOCTYPE>, <html>, <body>, <div>, <CSS>, <link>% <table>

= %3 VPN(virtual private network) sndg it » @ ﬁ T FE?
(A) fg"a*v? VLAN ¢ * if i

(B) Bt 2 @ p e & R

(C) #-7 %8 5 IFM Pk ¥

(D) #HiE "B st i @R

B R R Y WK m w2 R (Virtual LAN) R Fl G R 9
(A) s dIR 4% E M EFERFA

(B) 1 % Whif P hiE (7 RS R p ) g
(C) 4 F R pr? ¥ & * 9 MAC =at
(D) Bt % B ¥ ch R

~E
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29. T FVR- JE E AUERLE DR T E 2 ERE 7
(A) WPA2
(B) WPA
(C) WEP
(D) WPA2-PSK

30. MAC/ICAM # #41 & & &7 7|55 @ﬁs?] ?
(A) # s E (hub)
(B) #.d = (router)
(C) = #& E(switches)
(D) i % (gateway)

3L T A WA T M i IP ik B T MAC ik ePRR AR 7
(A) DHCP 1= z(Dynamic Host Configuration Protocol)
(B) ARP 12 z_(Address Resolution Protocol)
(C) PPP #= z_(Point-to-Point Protocol )

(D) TCP #% z_(Transmission Control Protocol)

32. 7 7H 5 OSI -3 P s * & (Application Layer)srid 2t 27
(A) DHCP = z(Dynamic Host Configuration Protocol)
(B) ARP 1= %_(Address Resolution Protocol)
(C) PPP #= z_(Point-to-Point Protocol )

(D) TCP % z_(Transmission Control Protocol)

33. 3R B d (routing) i & & OSIHCA] ¥ R iR 2 T R 744 15 2
(A) 7 % (Physical)
(B) F#l4ax & (Data Link)
(C) s E: % (Network)
(D) @ ﬁi%] & (Transport)

34. 7P H 5P ENAH(B—C)/(DXE)nis 558 2
(A) ABC—DEx/+
(B) A+BC—DE %/
(C) DExBC—/A+
(D) AB—CDE *x/+
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35.

36. T

37.

38.

39.

Th TS &IZ n £ F K Merge sort < the worst time complexity £ O() ?

(A)n

(B) n’
(C)nlogn
(D) n®

(A) 6(n)

B) 6(n)

(C) ©(logn)
(D) ©(nlogn)

Mo R BT R n £ TR Linear Search £ the worst time complexity &7

T %aid &2 ¢ > 0/1 Knapsack Problem & #f n & F L p% > v e the worst time complexity

(C)n®
(D) NP-hard

T Haiw B2 ¢ > @ ) #5(Tower of Hanoi) £ 4
(A)nlogn

(B) 2"~

©n’

(D) 2n

# 7 7| Visual Basic #2.5¢ & £ {8 » #7187 di e

For i=1To4

For j=10Toi-1 Step -3
kK=k+i

Next j
k=k—j

Next i

Print k

(A) 33

(B) 35

(C) 48

(D) 88

nEHEF > Btk o385 7

Mtk i w7
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40. ¢ %% ¥ % ¢ > BFS(Breadth-First Search) * #=i¢ * adjacency matrix F #%.% # ¢
graph G(VE) » H pr A e i &7
(A) O(V))
(B) O(IVI+[E))
(C) O(VP)
(D) (V)

87 /% 8F





